Sunday, August 27, 2023 2:04 PM

HwW 1 sofy#t/ioas
LD Detmiat e Aumbe ofF  gqloms /mik celi /a

a) Yce i :ZNin

wAl el

N Ly atems
Y e R L

—~ A
F colny 3‘—-. ce

%
./
s

CO[’?L/S —'- ;445 _}_ Co’”“’l/.’l{‘)

B
sy - ) qQtoms
- -~ = 2. ==
Wit el b g © ! W't el)
(O A
CO/'/\U 22075
a\Lo/hj ako m
c) diamond! S A N T e
b 7 4 N2
cr. my. b Cornus faus enclos

1.3 9w 0. = 5,43 A calentii

0‘-) di9tme Lrom cnf) 08 one Si AOm o cnls of
3i-5i bonls form a  diamond [1fkiCe -

€D

TR apt b ahoms /it cell , each W R Madins O
AIC’Q) Fhe 50J7-d1\ﬂ30m) o fhk /1L,LfC@/

/.ﬁﬁ Nearls+ ﬂo,bl?[,c)r.’

s _ - 2
from Corms 2z~ +C) -1f
fo oy I

Aom

) @f{L = ",L;(a'?x Fhef +
a

c-t)
2
R 3 B 5 a-%r
—>Zf: ,(7 = L1 7 J._g/

The ol

we Fin) e distmece  from R caws of one
o e

l?) TN Num bl &M5H~7 of Si afom? (#:/CM‘;)
We Con UG Z';N,, V(.’ % ¢

~

S/ qton fo I.‘ﬁ

NS S* A b6

2 qtoms

2
_ 2 = 5 X10
A/: Lt ~ 3

P @ (5,‘/3)((04 cmf’ cm’

HW1 Solutions Page 1



C) mass dusity a9 cud

N A\Io_jqc}rob # = }[.022 a0 //\4016

gf/—q

L.ZZ F:|,75/T

Q) Simplt cubiC: a= 271 = 3.7A

) Fcc i oa= L = 55154

C)ECCL q-q_f, ~:,,,5¢3AT _—

d) diaword . 0o BT _ g 14— (see 1.34)

QB —]%’lf 511 \rgq
cu_(;/-é) = = T(‘S) = z

Q Com Cocnts o Ced N+ L ket Siace wo dilOe afens
Flom  Cor B (cc,,,)o:,., He alhiw)

50 M ar=ali o= (”)9/ r““w

ol . Nalume dnsity s

) ¢ -
. J_/ , }—— i "_‘__‘_"_’ = }IO' X,OZ/ C/\/I3
A ‘ 2L 43 (L'IGZXIOQCM}
! -3
3 L 1”5 z — :I-O’moZZ <m
T a (q, é?.xyo_%cm)

b ™ amswv i2 fe gam a5 Q)

C) The maksin® are I same

AR
SR Y I
. N: —30_ {7) or Simpre CubS Sl fle
N\/ = L ‘ % :\ )
b
Z Nivi =1 50 F volamt kK SWfia densiyes
- At He sime

— Talk  Fhe k05 o f  FN giva  [qFRa  @nstent and  abile TARCPAS

y. 954 4,934 H%BA) —(l L ’,_)
(7'664 TRV R 2/ 4! 3

HW1 Solutions Page 2



|

4. 924 4,934 mz/i) -(L 0 L)
(7,664 STy SR TIT) 5 R SIS
B muldieny by ot Led (11) o 0 btain

7
u‘é}B/ L’) Plarc

—_—

RV 5\) Simple cubic

I

. “«L’:)

L) UOO] a 1 | 1y -z
Ny = /qz— Y47 x19 cm

},L')(] [ o)

VY I P RN Sx — aronm5  In M /1/‘4’\‘” f”%, So

Y -2
Ny = —2— = 2.59%0 " cnm
a {12
17) bec
{;)(loo) Same A9 Simple CubiC €qSC .
(’,L')(HO) _‘u” T F) = akems in Ly it Plag
> - é 3 A
Ny - fo b ZX\Q
{;r,':,')(l/l) S5a9Mc a3 S mple cabil ¢qstl
<) Fee ] =
gJleo) o t 1T TN a b e pla
o 1y -2
/\/5:27?:%-/07)((0 Chm

Li)(110) Same a3 hec case

[ _ .
L(,c)(I//) 3’z+3'i— = L oateny 0 e (qdhiee Plaag

HW1 Solutions Page 3



